To show similarity

Transition words

Additionally Both In the same way Similar to
Again Each of Just like Similarly
Also Equally Like Too

And Furthermore Likewise

As well as In addition

The Bride had cashmere, blue dress; similarly, Potter had bought a new watch;
therefore, they both were modernizing. Consequently, they were the catalyst for

change in the town, especially the Bride.

Note the semicolon takes the place of the period. The comma comes after the

adverb.

To show difference

Although Even though Instead of Though
But Except Nevertheless Unlike
Conversely However On the other hand | Whereas
Despite In contrast to Otherwise While
Different from In spite of Still Yet

To show Emphasis

Above all Finally Most important Most significant
Especially Mainly Most of all Primarily
To show cause

| Because | For | For this reason | Since | Due to
To show effect
As a result Hence So (as a fanboy) Therefore
Consequently In (as a) Then Thus

consequence




